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This question has Statement | and Statement 2. OF the four
choices given afier the Statements, choose the one thal
best describes the two Statements.
Statement 1: The possibility of an electric bulb fusing is
higher at the ume of switching ON.
Statement 2: Resistance of an clectric bulb when it is not Iit
up 1s much smaller than when it is lit up.
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la) Statement | is true. Statement 2 is false
(b)  Statement | s false, Statement 2 is true, Statement 2 is
Nt a cormeat explanation of Statement 1. |
(€) Statement | is true, Staternent 2 is true, Statement 215
a correct explanation of Statement 1.
(d) Statement | is false. Statement 2 is truc.
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